Whitman College
Econ 407
Final Exam
December 17, 1997

Write all answers in your blue book. Show all of your work.



1. (5pts) Define the monetary aggregate M1.


2. (25pts) A friend has just heard that "when the price of a bond falls, its interest rate rises." Your friend does not understand what this means, and asks you for an explanation.


3. (35pts) Consider the December 1997 yield curve for U.S. Treasury securities graphed below. Suppose that savers require the liquidity premium schedule given in the table below. Using the Liquidity Premium Theory of the term structure of interest rates, forecast the annual nominal interest rate on a five-year Treasury note offered for sale five years from now.


	Term to maturity
	Liquidity premium (in percent per year)

	3 months
	0

	6 months
	0.10 (i.e. 1/10th of a percent per year)

	1 year
	0.15

	2 years
	0.20

	3 years
	0.22

	5 years
	0.25

	10 years
	0.40

	30 years
	0.50

	
	





4. (30pts) Briefly describe how the existence of Federal Deposit Insurance contributed to the Savings and Loan crisis of the 1980's.



5. By the end of the 1960's, monetarist and neo-Keynesians differed on three fundamental points. First, neo-Keynesians believed that sticky prices could cause fairly long deviations from potential aggregate output, whereas monetarists believed prices adjusted to clear markets fairly rapidly. Second, monetarists believed that the lags in monetary policy were long and variable, whereas neo-Keynesians felt the lags were more predictable. Third, monetarists believed the LM curve (in an IS-LM model) was quite steep, whereas the neo-Keynesians felt it was not nearly so steep.

(a) (15pts) Consider the first two differences. Briefly describe how these differences caused the monetarists and neo-Keynesians to draw different conclusions about the desirability of an active monetary policy aimed at smoothing the business cycle.

(b) (30pts) Consider the third difference. Explain why the monetarists believed the LM curve was nearly vertical. Explain what the implications of a nearly vertical LM curve are for effectiveness of fiscal versus monetary policy.



6. (30pts) Consider the Lucas Island model. Under what conditions does monetary policy have no effect on aggregate output? Explain.



7. (30pts) Suppose a visiting Real Business Cycle economist was scheduled to give a talk at Whitman College entitled "Does the Fed Cause Christmas?" Briefly describe what this economist is likely to say in his talk.

